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public class StringExample {

public static void main(String[] args) {
String str = "SupercaliFrajalistic";
int len = str.length();
String upper = str.toUpperCase () ;
System.out.println("String length is " + len);
System.out.println("String in UPPERCASE is '" + upper + "'");
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if (grade>60) {
System.out.println("You passed the test!");
System.out.println("Hip Hip Hooray !'");

} else {
System.out.println("You failed");
System.out.println("It is so sad...");

}

System.out.println("Your grade is: " + grade);
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(scheme —1 if 1012 A1) VOWN YW NINM VIXD
if ( <boolean expression> )
<statement>
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public class IfExample {
public static void main(String[] args) {
int grade = Integer.parselnt(args[0]);

if ( grade > 60 )
System.out.println("You passed the test!");
System.out.println("Your grade is: " + grade);
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if (expl) {
// code for case when expl holds
}
else if (exp2) {
// when expl doesn't hold and exp2 does
}
// more. ..
else {
// when expl, exp2, ... do not hold
}

12 YNNI ,NTNIM Nj7'0IN0 |'N else if N1an?
NN DUPNNYT NINK DNPN 90IX JINNY NN
N 77 TR




"J1y'wn |nta 0naTn 'R

int counter = 0;

while (counter < 1000) {
System.out.println("No talking during class");
counter++;
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while vown

while ( <boolean expression> )

boolean false
] <statement>

expression

> nwwa while 0 vown vixa
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do vown

pubilc class DoExample
{
public static void main (String[] args) {
int counter = 0;
do {
System.out.println("No talking during class");
counter++;
} while (counter < 1000) ;
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l do

<statement>
while ( <boolean expression> ) ;
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for vown

for (int counter = 0; counter<1000; counter++) {
System.out.println("No talking during class");
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for (<initialize> ; <boolean-expression> ; <increment>)

<statement>
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for (<initialize> ; < boolean_expression> ; <increment> )
<statement>
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for ( int i = 1; i <= 10; i++ ) {
for (int j = 1; j <= 10; j++ )
System.out.print(i*j + "\t");
System.out.println() ;
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int[] odds;
int odds[]; //'legal but discouraged
String[] names;

int[][] matrix; //an array of arrays

matrix:
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Indices (startfrom0) —— 0 1 2 3 4 5 6 7

odds:

1‘3‘5‘7‘9‘11‘13‘15‘

oddslength == 8
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int[] odds = {1,3,5,7,9,11,13,15};
String[] months =
{"Jan", "Feb", "Mar", "Apr",
"May", "Jun", "July", "Aug",
"Sep", "Oct", "Nov", "Dec"};

monts: [ [ [ [ TTT]]T]
"Jan”‘—l-"

Type[] Identifier = new Type[Expression];

Examples:
int[] odds = new int[8];
float[] vector = new float[i];
String[] strings = new String][i * j + 58];

To access an element of the array
int val = odds[0];
float f = vecrot[vector.length -1];
String str = strings[K];
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int[] odds = new int[8];
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for (int i = 0 ; i < odds.length; i++) {
System.out.print(odds[i] + " ")
odds[i] = 2 * i + 1;
System.out.print(odds[i] + " ");

Array creation: all.elements get the
OUtpUt' default value for their type:(0-for:int)
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double [] arr = {1.0, 2.0, 3.0, 4.0, 5.0};
double sum = 0.0;
for (int i=0; i<arr.length; i++) {
sum += arr[i];
}

System.out.println("arr sum is: " + sum);
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for (int i = 0; i < arr.length; i++){
sum += arr[i];

-7
for (double d : arr) {
sum += d;
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